26.10.2020
Temat: System rzymski.
I = 1                             II = 2                     III = 3            
IV = 4                          V = 5                     VI = 6
VII = 7                         VIII = 8                
 IX = 9                          X = 10                  XI = 11
XII = 12                       XIII = 13               XIV = 14
XV = 15                       XVI = 16               XVII =17
XVIII = 18                   XIX = 19             XX = 20

L = 50                    XL = 40                      LX  = 60
C = 100                  XC = 90                     CX = 110
D = 500                 CD = 400                    DC = 600
M = 1000               CM = 900                   MC = 1100  
Zad. 1 str.78 (p)
a)
XXVIII = 28
XIX = 19
XXXIV =34
XVII =17
XXXIII =33
XXXIX =39





Zad. 1 str.78 (p)
a)
XXVIII = 28
XIX = 19
XXXIV =34
XVII =17
XXXIII =33
XXXIX =39
Zad.2 str.79 (p)
a) LV = 55
LXVIII = 68
LXXII = 72
73 = LXXIII
89 = LXXXIX
54 = LIV

b) CXX = 120
CCXXXV =  235
CCCLII = 352
130 = CXXX
234 = CCXXXIV
379 = CCCLXXIX

c) DXXV =  525
DCL = 650
DCCCV = 805
529 =  DXXIX
650 = DCL
777 = DCCLXXVII

d) MMV = 2005
MDCXII = 1612
MCCVIII = 1208
1512 = MDXII
2014 = MMXIV
3755 = MMMDCCLV
e) XLII = 42
    XLVIII = 48
    CXL =140
    44 = XLIV
    145 = CXLV
    540 = DXL
f)  XCI = 91
     CXC =190
     MCX = 1110
     99 = XCIX
     180 =CLXXX
     1595 = MDXCV
g)  CDX = 410
     CDXXXI = 431
     CDIX = 409
    405 = CDV
    450 = CDL
    475 =CDLXXV
h)   CML =950
      MCMXX =1920
     MMMCML =3950
    955 = CMLV
    930 = CMXXX
    1939 =MCMXXXIX
Zadania do samodzielnego rozwiązania: ćwiczenia str.38






